Mathematics

Representing information as a bar model

Miss Mitchell
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A

12 people get on the bus. Then, 6
more people get on. How many
people are on the bus now?

B

There are 18 people on the bus.
Then, 6 people get off the bus. How
many people are on the bus now?

C

7 people are on the bus. Then, 8
people get on. How many people
are on the bus now?

D

9 people are on the bus. Then, 8
people get on. How many people
are on the bus now?

E
There are 16 people on the bus. 5
people get off at the next stop. How
many people are on the bus now?

There are 17 people on the bus. 6
people get off at the next stop. How
many people are on the bus now?
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